1. THEME : EFBE. #ELIl. RBKREEMIRE

2FXERTIER : Sitt R 811 TE REEEE LS L=(6+1)m*2 ;
ACEEL=12.8m W=4.7m

F1-2TE: FEHRRAT L=57m

F1-3LE: EHRBEL=6.6m

#1-4T[E: RCEREL=38m ; AB¥L=16.2m ; BE}
L=22.7m

#£1-5T[E: ACKEL=35m ; AB¥L=75.5m ; BE}
L=121m

R S 1THE: L EwEEMEL=1.3m
22T [E: ACKEL=40.5m
$2.3T[E: i#L=36.2m ; ACEEL=37m
$2-4T[E: ACKREL=46m
$2-5T[F: ACPEE L=2.6m*0.5
HF2-6 TE: AT EMPERE R it m el kv F

KRB 3T E: ACKEL=26.5m ; ABL=50m

KEER $4-1TE: HiREHAL=1.1mW=0.6m
HA4-2TE: HEEHEL=1.5m+1m

AR %51 TE: ACEREL=43m
$5-2TF: fELHEL=19.3m
&5 3T E: ACKSEL=130m

ERE 61 TE: RKEREEL=2.4m
F6-2T[E: BEBEEL=1m

BB #7TE: ACKEL=121.5m ; ABL=60m
AR $sTE: HiFEHEL=4.5m+3m



